Wednesday 13t" May — Multiplication — Reasoning

Use your knowledge and this week’s learning of multiplication to solve the following
reasoning problems:
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2b. Tomas is thinking of a number...

| know... so...

24 %18 = 432 P )

I mivlfiply the number
. . by 22 The answer is
25x 18 less than 400 but

greater than 350.

25x17
what could Tomas' number be?
. _- Hallie solves the following

multiplic aficn.

How many ways?

Complete using digits 0-9. Position the digit 1
as shown.

HE-H-EEN

Is she comact? Explain why.




Make the target number of 84 using
three of the digits below.
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Multiply the remaining three digits
together, what is the product of the three
numbers?

s the product smaller or larger than 847

Can you complete this problem in more
than one way?

A toy shop orders 11 boxes of marbles.
Each box contains 6 bags of marbles.

Each bag contains 45 marbles.

How many marbles does the shop order in total?




